
Examples Chapter 9

1. A steel Company manufactures steel bars. If the production is working properly, it turns out steel bars that are normally distributed with mean length of 2.8 feet, with a standard deviation of 0.20 foot. Longer steel bars can be used or altered, but shorter bars must be scrapped. You select a sample of 25 bars, and the mean length is 2.73 feet. Do you need to adjust the production equipment?

a. If you test the null hypothesis at the 0.05 level of significance, what decision do you make?

b. What is the p-value of the test in (a)?

c. Interpret the meaning of the p-value in this problem.
2. Test the hypothesis that the average content of containers of a particular lubricant is 10 liters if the contents of a random sample of 10 containers are
10.2, 9.7, 10.1, 10.3, 10.1, 9.8, 9.9, 10.4, 10.3, 9.8 

Use a 0.01 level of significance and assume that the distribution of content is normal.
3. The operations manager at a light bulb factory wants to determine whether there is any difference in the proportion of the defective bulbs which is 4% as specified by the factory. A random sample of 250 light bulbs is selected and found that 15 bulbs were defective.  Use 5% level of significance to determine that there is a difference in the proportion of the defective bulbs. 
